Bt B
-SHAEE SEHNLAOFE
(Bfr - FHE., %)
2 i K » SHAEE SHISEE FE DL BIEELE
— R &£ 5,770,000 5,285,000 485,000 109.2
¥ OB & & 1,527,300 1,454,900 72,400 105.0
N EREBEREEE (FEMTE) 503,800 496,000 7,800 101.6
ERRERKREE (EZHE) 58,200 47,600 10,600 122.3
= [T % e (53 885,800 832,600 53,200 106.4
e e B E E R 79,500 78,700 800 101.0
=1 it 7,297,300 6,739,900 557,400 108.3
(BH . TE=)
SHIEE PNECERFTLOTH
(Bf : FH. %)
S HE & SH4EE SHISEE FEDLLE FIE: 4
I #& B9 UL A 205,932 211,293 A 5,361 97.5
. e - O s 200,907 208,501 A 7,594 96.4
KEER = F AR MR A 87,922 83,061 4,861 105.9
AWM X W 152,336 142,727 9,609 106.7
IR &% B9 IR A 365,728 — - -
TAKKEZTZLIU & B9 X H 365,728 — — —
Hi F AR MR A 191,156 — — —
HE R X H 210,109 — —
XTI KEZSZIESFUEELIYAEDESEC $§1TLT_T_&5§EE75\T1’)U$LT* (BH . FE=)
SHAEE —REHBABHESOTFE
(Bfr : FH. %)
% A % H
&l = ¥ 5 i |\ £ B ¥ H B | Bk
1 i 660,262 11.2|5& = & 68,349 1.3
#h A E 5 73,763 1.4# 7% & 1,151,231 19.7
M F B X G O£ 400 0.0|R 4 & 1,206,423] 22.0
TEER AR 1,300 0.0|18 4 & 350,180 6.6
MAEEERBIX L 1,300 00| M K E % & 394,624 6.5
EANBEBRXG R 5,600 01|78 T & 421,753 8.3
A EERXGR 141,000 27|t S g 879,878 12.6
JILT7GFBERRGE 4,000 0.1|;8 il & 230,637 49
EEEREEEIES 3,000 0.1 B g 570,969 9.9
oA B X G E 2,000 00| = %€ 1B # 54,840 0.1
#h A XK O 2,600,000 47.3[% & & 431,115 7.9
TREEREHR S 900 0.0|5& x fas] & 1 0.0
P"HEHERUVAEES 78,790 0.7 % i g 10,000 0.2
FREHRERUVF 97,282 1.9
E E X H =% 528,891 8.1
2 b3 H & 301,788 4.8
Bt B g A 102,329 15
& Bt & 51,341 0.8
e A & 600,383 9.5
e i & 100,000 1.9
] 1Y A 119,371 2.3
Ft E 296,300 5.7
% A =1 & 5,770,000] 100.0|&% H = it 5,770,000/ 100.0
(B . PES)

22




-SH3EE KERREESE
(B [)
S HE » mAfREE Ak ] =558
— & £ &t 6,245,500,723 5,792,100,639 453,400,084
¥ A & &t 2,017,390,602 1,959,849,252 57,541,350
EREEGRIKR (BXHTE) 583,135,465 570,441,646 12,693,819
EREERIKR (EZ#HE) 45,767,859 41,792,046 3,975,813
M T 7K ] - ES 343,359,913 326,036,003 17,323,910
e X £ % B K B ¥ 83,767,462 72,004,714 11,762,748
P % e (53 883,515,663 872,411,381 11,104,282
% B o= & B E & 77,844,240 77,163,462 680,778
=) it 8,262,891,325 7,751,949,891 510,941,434
(BH . REE)
STHREE QNELERITRESE
(B AL (FaA) H)
= _Tl IZEQE,] T IR Af#o%8 X RS =558
. ~ =1 IR J I 212,901,892 199,956,179 12,945,713
7K’E$%K“+i§ A B I X 82,661,000 137,607,936 A 54,946,936
(BH . REE)
SHREE EHBRARHRESE
(B : M. %)
% A % H
El R EH B | B El B R E R | Bt
1 |  675672,364] 10.2|F = g 67,855,069 1.0
#h H E 5 W 81,502,000 1.1 % Z| 1,083259,649] 306
FOF OB X M & 389,000 0.0|R 4 Z| 1,288,408,040 15.8
TEEREEE IR 3,016,000 0.0|1& 4 & 388,053,714 7.3
MAEEERBIX L 3,233,000 00| M K E % & 363,834,821 4.1
EANBEBRRGE 9,986,000 0.0|7 T & 520,660,532 10.8
MAHEHEHRXTE 168,573,000 22|x N & 860,153,598 10.4
JILT7GFBRRAE 6,121,570 0.1|;8 il & 232,166,945 3.9
BEEEmEHRXATE 4,321,000 0.1 5 & 509,420,087 9.2
I I R 69,425,000 01| & #® 1B % 74,039,290 1.4
o A X | 29294410000 37.6|% & & 404,248,894 55
LERENERFINZAE 1,023,000 0.0
PHEHERUVEHESE 31,178,158 0.3
FRHHRERUVFHH 80,881,292 1.3
E E X & = 762,956,682 225
2 b3 H & 296,405,441 3.9
g B 1Y A 84,814,449 1.1
& Bt & 41,691,472 0.5
2 A & 98,698,000 3.6
e i E 367,438,804 6.3
B 1Y A 132,633,491 1.8
Ft & 396,100,000 7.3
% A =) it| 6,245500,723| 100.0|% H = it 5,792,100,639] 100.0
(BH . RrREE)

23




-HRERE ORI

(B4 - AFD
= ER SHMTEER SI2EER SHIEER
— A% = & 289,808 305,724 305,969
T XK B EF X £ F 124,202 117,624 110,018
B XK EHEKEBEXLG 40,609 36,629 32,573
ERBREARKREBX(EZ) KF 206 138 69
= i 454,825 460,115 448,629
(BH . REE)
RERE ORI
(B - FA)
EEXR A SHTEEE SH2EX SHIBER
KoOOE B OXE 62,029 60,968 58,204
(Bf . REE)
-EEBREORKR
(Bfr . AA)
KX X % SHTEEXR | SH2FEXR | SHEEX
T i B R E & 46,591 47,730 45,329
B B EE S 281,941 285,511 298,557
SAbSLiIRBEE S 13,177 12,987 12,834
o E e 34,367 34,367 34,367
_ i & 5 i & & & 49,561 49,712 49,856
NHEBEZERES 85,399 76,883 74,764
o Rk B R £ 90,000 90,000 90,000
EREXMEEHEES 33,690 32,738 32,741
< D ith 58,241 61,736 64,137
N &t 692,967 691,664 702,585
ERERERIEREERM K 7 B2 & £ 3,448 2,482 2,484
T KEEEXEXHHE &% 2 £ & 38,923 39,600 39,179
EEEERHKEXRHE £ B B X 2 779 780 782
TR KR R RNERTEERES 1,447 2,448 2,350
K B8 F X = Gt % B [ & 2 5,351 5,355 5,358
a Hi 742,915 742,329 752,738
(B¥ . REE)

24




